An M/G/1 retrial queue subject to disasters and N-policy vacation

Peishu Chen^{1,2*}, Guoxi Zhao³, Yongwu Zhou¹

¹School of Business Administration, South China University of Technology, Guangzhou 510000, Guangdong, China

²Mathematics Department, Chaohu University, Chaohu 238000, Anhui, China

³Department of mathematics and information science, Xinxiang University, Xinxiang 453003, Henan, China

Received 1 October 2014, www.cmnt.lv

Abstract

An M/G/1 retrial queue subject to disasters and N-policy vacation is investigated in this paper. Both positive and negative customers arrival in Poisson processes independently, and positive customers receive service immediately if the server is idle upon their arrivals. Otherwise, they enter a retrial orbit and repeat their attempt again after a random time period. Once negative customers arrive, they not only remove all the customers in the system but also make the server under repair. The server leaves for an N-policy vacation as soon as the system empties. By using the supplementary variables method, we obtain the steady-state solutions for both performance measures and reliability quantities.

Keywords: Retrial queues, Disasters, N-policy Vacations, Reliability

1 Introduction

Queueing models with negative arrivals were first introduced by Gelenbe(1989)[1], which are also called G-queues. Negative arrivals have been interpreted as viruses, orders of demand, or inhibitors, which affect the queue behavior in a variety of ways. For example, an arriving negative customer removes all the customers in the system. We regard this kind of negative customer as a disaster (catastrophe). Disasters are also connected with other queueing phenomena such as clearing systems [2]. There has been an increasing interest in queueing systems and networks with disasters due to their applications in telecommunication, computer networks and manufa-cturing systems. Numerous papers have recently appeared in which a disaster removes all the customers in the system [3-6]. Artalejo & Gomez-Corral (1999) [4] computation of the limiting distribution in queueing systems with repeated attempts and disasters, Li and Lin (2006) [5] analyzed an M/G/1 processor-sharing queue with disasters by means of extending the supplementary variable method. Wang, Liu and Li (2008) [6] further analyzed an M/G/1 retrial queue subject to disasters and server failures. Gao and Wang (2014) [7] studied the performance and reliability of an M/G/1-G retrial queue with orbital search.

Several authors have analyzed the N-policy on queueing systems with server vacation. Kella (1989) [8] provided detailed discussions concerning N-policy. Choudhury & Paul (2004) [9] studied a batch arrival queue with an additional service channel under N-policy. Liu, Wu and Yang (2009) [10] analyzed an M/G/1 retrial G-queue under N-policy where the arrival of a negative customer only removes the customer being in service from the system. Wu, Tang and Yu (2014) [11] further analyzed an M/G/1 queue with multiple vacations, N-policy and unreliable service.

In this paper, we mainly consider an M/G/1 retrial queue under N-policy vacation subject to disasters, server failures and repairs. Our model is related to computer networks operating under the presence of viruses, whereas disaster has the effect of clearing operation that kills all messages present in the network and also destroys the network itself. Positive arrivals receive service immediately if the server is idle upon their arrivals. Otherwise, they may enter a retrial orbit and try their luck after a random time interval. Negative customers affect the system when the system is on service or on retrial, and they not only remove all the customers in the system, but also make the server breakdowns. If the server is on repair or on vacation, negative customers have no effect to the system. In the N-policy for the retrial queue, an idle server is activated the moment N customers accumulated in the orbit.

The rest of this paper is arranged as follows. In the next section, we give the mathematical description of the considered retrial queueing models. The stationary differential equations of the model and their solutions are obtained in section 3. The reliability quantities are analyzed in section 4. Finally, a conclusion is presented in section 5.

2 Mathematical model descriptions

In this paper, we consider an M/G/1 stochastic clearing system with repeated attempts, where the server applies N-policy vacation when no customer is recorded in the system.

^{*} Corresponding author's e-mail: cps8@sina.com

2.1 THE ARRIVAL PROCESS

We assume that the system has two types of independent arrivals, positive and negative customers. Both positive and negative customers arrive at a single server system according to two independent Poisson processes with rates λ^+ and λ^- , respectively.

2.2. THE RETRIAL RULE AND SERVICE

If an arriving positive customer finds the server idle, the customer gets service immediately. Otherwise, the server is found busy or broken or on N-policy vacation, the positive customer will join a group of unsatisfied customers (i.e. orbit) and repeats its request for service after some random time until he finds the server idle. Successive inter-retrial times of customers are independently, exponentially distributed with parameter δ . The service time distribution function is given by

$$B(x) = 1 - \exp\{-\int_0^x \mu(t)dt\}$$
 with $b_1 \in (0, +\infty)$.

2.3. THE REMOVAL RULE AND REPAIR

When the server is idle or busy, the arrival of a negative customer not only removes all the customers of the system (including the customer being in service and the customers in the orbit), but also makes the server fails immediately. The server is sent for repair immediately once it fails, and after repair it is as good as new. As soon as the repair of the server is complete, the server is idle if there is one more customer in the retrial orbit. Otherwise, the server enters the N-policy vacation. An arriving negative customer has no effect to the system when the server is on vacation or on repair. We call arrived negatives which actually affect the system as disasters in this paper. The repair time distribution function is given by

$$R(x) = 1 - \exp\{-\int_0^x \varphi(t)dt\} \text{ with mean } r_1 \in (0, +\infty).$$

2.4 THE N-POLICY VACATION

When the server finishes serving a positive customer or completing its repair, the server finds the system empty, the server enters the N-policy vacation (the dormant period) until N positive customers accumulated. If the server finds no customers in the orbit, it enters the idle period.

2.5 THE INDEPENDENCE

We assume that all the random variables defined above are independent and we denote F(x) = 1 - F(x) as the tail of distribution F(x). We also denote:

$$\lambda = \lambda^+ + \lambda^-, F^*(x) = \int_0^{+\infty} e^{-sx} dF(x),$$
$$\overline{F}(x) = \int_0^{+\infty} e^{-sx} \overline{F}(x) dx = \frac{1 - F^*(s)}{s}.$$



Figure 1 The structure of the system

3 The differential equations and the solution

In this section, we first introduce several supplementary variables to construct the differential equations for our model. Then we solve the equations and derive the probability generating functions (PGFs) of the stationary orbit size distribution and some interesting performance measures of the system.

We define the states of the server as

 $C(t) = \begin{cases} 0, \text{ if the server is in a dormant period at time t,} \\ 1, \text{ if the server is busy at time t,} \\ 2, \text{ if the server is idle at time t,} \\ 3, \text{ if the server is under repair at time t.} \end{cases}$

For $t \ge 0$, we define N(t) as the number of customers in the orbit at time *t* and we further define the random variable $\xi(t)$ as follows: If C(t) = 1, $\xi(t)$ represents the elapsed service time up to time *t*; if C(t) = 3, $\xi(t)$ denotes the elapsed repair time up to time *t*. Then $\{C(t), N(t),$

 $\xi(t), t \ge 0$ } becomes a Markov chain.

We can define:

$$V_n(t) = P\{C(t) = 0, N(t) = n\}, t \ge 0, 0 \le n < N,$$

$$S_n(x,t)dx = P\{C(t) = 1, N(t) = n, x < \xi(t) < x + dx\},$$

$$t \ge 0, x > 0, n \ge 0,$$

$$I_n(t) = P\{C(t) = 2, N(t) = n\}, t \ge 0, n \ge 1,$$

$$R_n(x,t)dx = P\{C(t) = 3, N(t) = n, x < \xi(t) < x + dx\},$$

$$t \ge 0, x > 0, n \ge 0.$$

If the system is stable, then we further have:

$$V_n = \lim_{t \to \infty} V_n(t), \quad S_n(x) = \lim_{t \to \infty} S_n(x,t), \quad I_n = \lim_{t \to \infty} I_n(t),$$
$$R_n(x) = \lim_{t \to \infty} R_n(x,t).$$

3.1 THE STEADY STATE EQUATIONS

If the system is in stable state, the system of stationary differential equations of the joint probability density $\{V_n, S_n(x), R_n(x), n \ge 0; I_n, n \ge 1\}$ can be written as:

$$\lambda^{+}V_{0} = \int_{0}^{\infty} S_{0}(x)\mu(x)dx + \int_{0}^{\infty} R_{0}(x)\varphi(x)dx,$$
(1)

COMPUTER MODELLING & NEW TECHNOLOGIES 2014 18(12C) 509-515

$$\lambda^+ V_n = \lambda^+ V_{n-1}, \quad 1 \le n < N, \tag{2}$$

$$\frac{dS_n(x)}{dx} = -(\lambda + \mu(x))S_n(x) + \lambda^+ (1 - \delta_{n,0})S_{n-1}(x), n \ge 0, \quad (3)$$

$$(\lambda + n\delta)I_n = \int_0^\infty S_n(x)\mu(x)dx + \int_0^\infty R_n(x)\varphi(x)dx$$
$$+\lambda^+\delta_{n,N}V_{n-1}, \ n \ge 1$$
(4)

$$\frac{dR_n(x)}{dx} = -(\lambda^+ + \varphi(x))R_n(x) + \lambda^+ (1 - \delta_{n,0})R_{n-1}(x), n \ge 0$$
(5)

The boundary conditions are given below: $S_{n}(0) = 2^{n}(1 - \delta_{n})I_{n} + (n+1)\delta I_{n} = n \ge 0$

$$S_{n}(0) = \lambda \ (1 - O_{n0})I_{n} + (n+1)OI_{n+1}, \ n \ge 0,$$
(6)

$$R_0(0) = \lambda^{-} [\int_0^{\infty} S_n(x) dx + (1 - \delta_{n0}) I_n],$$
(7)

$$R_n(0) = 0, \ n \ge 1,$$
 (8)

where $\delta_{i,j}$ denotes Kronecker's delta function. The normalization condition is

$$\sum_{n=1}^{\infty} I_n(x) + \sum_{n=0}^{N-1} V_n(x) + \sum_{n=0}^{\infty} \int_0^\infty S_n(x) dx + \sum_{n=0}^{\infty} \int_0^\infty R_n(x) dx = 1.$$
(9)

3.2 THE MODEL SOLUTION

To solve the system displayed in Eq. (1) – (9), we can define the following PGFs for $|z| \le 1$.

$$I(z) = \sum_{n=1}^{\infty} I_n z^n, \qquad V(z) = \sum_{n=0}^{n-1} V_n z^n,$$
$$S(x, z) = \sum_{n=0}^{\infty} S_n(x) z^n, \qquad R(x, z) = \sum_{n=0}^{\infty} R_n(x) z^n.$$

It follows from (2) that:

$$V(z) = V_0 \sum_{n=0}^{N-1} z^n = \frac{V_0(1-z^N)}{1-z}.$$
 (10)

It follows from (3) and (5) that:

$$S(x,z) = S(0,z) \exp\{(\lambda^+ z - \lambda)x\}\overline{B}(x),$$
(11)

$$R(x,z) = R(0,z) \exp\{(\lambda^+ z - \lambda^+)x\}\overline{R}(x), \qquad (12)$$

where S(0, z) and R(0, z) can be obtained from (6)-(8).

Multiplying Eq. (6)-(8) by z^n and then summing over all possible values of $n \in z^+$, we get:

$$S(0,z) = \lambda^+ I(z) + \delta I'(z), \qquad (13)$$

$$R(0,z) = \lambda^{-} [\int_0^\infty S(x,z) dx + I(z)] = R_0(0) = R(0,0)$$

Putting (11) and (13) into above equation, and simplifying it, we get:

$$R(0,z) = \lambda^{-}[S(0,z)\overline{B}(\lambda - \lambda^{+}z) + I(z)] = R(0,0)$$

$$=\lambda^{-}S(0,0)\overline{B}(\lambda)=\lambda^{-}\delta I'(0)\overline{B}(\lambda).$$
(14)

Now substituting (13) and (14) into (11) and (12) respectively, we have:

$$S(x,z) = [\lambda^+ I(z) + \delta I'(z)] \exp\{(\lambda^+ z - \lambda)x\}B(x),$$
(15)

$$R(x,z) = \lambda^{-} \delta I'(0) B(\lambda) \exp\{(\lambda^{+} z - \lambda^{+}) x\} R(x), \qquad (16)$$

It follows from (5) and (14) that:

$$R_0(x) = R_0(0) \exp\{-\lambda^+ x\}\overline{R}(x) = R(0,0) \exp\{-\lambda^+ x\}\overline{R}(x)$$

$$=\lambda^{-}\delta I'(0)B(\lambda)\exp\{-\lambda^{+}x\}R(x),$$

which leads to:

$$\int_{0}^{\infty} R_{0}(x)\varphi(x)dx = \lambda^{-}\delta I'(0)\overline{B}(\lambda)R^{*}(\lambda^{+}).$$
(17)

It follows from (3) and (13) that:

$$S_0(x) = S_0(0) \exp\{-\lambda x\} B(x) = S(0,0) \exp\{-\lambda x\} B(x)$$
$$= \delta I'(0) \exp\{-\lambda x\} \overline{B}(x),$$

which leads to:

$$\int_0^\infty S_0(x)\mu(x)dx = \delta I'(0)B^*(\lambda).$$
(18)

Substituting (17) and (18) into (1), we get:

$$V_0 = \frac{\delta I'(0)}{\lambda^+} [B^*(\lambda^+) + \lambda^- \overline{B}(\lambda) R^*(\lambda^+)].$$
(19)

Substituting (19) into (10), we have:

$$V(z) = \frac{\delta I'(0)[B^{*}(\lambda^{+}) + \lambda^{-}B(\lambda)R^{*}(\lambda^{+})](1-z^{N})}{\lambda^{+}(1-z)}$$

= I'(0)M(z), (20)

(20)

where
$$M(z) = \frac{\delta[B^*(\lambda^+) + \lambda^- \overline{B}(\lambda)R^*(\lambda^+)](1-z^N)}{\lambda^+(1-z)}$$
.

Now we try to find the expression of I(z). From (1),(2) and (4), we have:

$$\lambda^{+}(1-z)V(z) + \lambda I(z) + \delta z I'(z)$$

=
$$\int_{0}^{\infty} S(x,z)\mu(x)dx + \int_{0}^{\infty} R(x,z)\varphi(x)dx.$$
 (21)

Substituting (15), (16) and (20) into (21), we get:

$$I'(z) = I(z)D(z) + E(z),$$

where E(z) = I'(0)H(z), $D(z) = -\frac{\lambda}{\delta[z - B^*(\lambda - \lambda^+ z)]},$

Chen Peishu, Zhao Guoxi, Zhou Yongwu

COMPUTER MODELLING & NEW TECHNOLOGIES 2014 18(12C) 509-515

Chen Peishu, Zhao Guoxi, Zhou Yongwu

$$H(z) = -\frac{(1-z^{N})}{z-B^{*}(\lambda-\lambda^{+}z)} \{B^{*}(\lambda) + \lambda^{-}\overline{B}(\lambda)R^{*}(\lambda^{+})\}$$
$$+\frac{\lambda^{-}I'(0)\overline{B}(\lambda)R^{*}(\lambda^{+}-\lambda^{+}z)}{z-B^{*}(\lambda-\lambda^{+}z)}$$

Then we have:

$$I(z) = \exp\{\int_0^z D(t)dt\}\int_0^z E(u)\exp\{-\int_0^u D(t)dt\}du$$

= $I'(0)\exp\{\int_0^z D(t)dt\}\int_0^z H(u)\exp\{-\int_0^u D(t)dt\}du$
= $I'(0)L(z)$,

where $L(z) = \exp\{\int_0^z D(t)dt\}\int_0^z H(u)\exp\{-\int_0^u D(t)dt\}du$.

Now we need to find I'(0). Summarizing above equations, we have:

V(z) = I'(0)M(z), E(z) = I'(0)H(z), I(z) = I'(0)L(z), then we further have:

$$V(1) = I'(0)M(1), \quad E(1) = I'(0)H(1),$$

$$I(1) = I'(0)L(1), \qquad I'(1) = I'(0)[D(1)L(1) + H(1)],$$

where

$$M(1) = \frac{N\delta[B^*(\lambda^+) + \lambda^- \overline{B}(\lambda)R^*(\lambda^+)]}{\lambda^+},$$

$$H(1) = \frac{\lambda^- I'(0)\overline{B}(\lambda)}{1 - B^*(\lambda^-)},$$

$$D(1) = -\lambda / \{\delta[1 - B^*(\lambda^-)]\},$$

$$L(1) = \exp\{\int_0^1 D(t)dt\}\int_0^1 H(u)\exp\{-\int_0^u D(t)dt\}du.$$

It follows from (15) and (16) that:

$$\int_0^\infty S(x, 1)dx = [\lambda^+ I(1) + \delta I'(1)]\overline{B}(\lambda^-),$$

$$\int_0^\infty R(x, 1)dx = \lambda^- \delta I'(0)]\overline{B}(\lambda^-)r_1.$$

From the normalization condition (9), we obtain:

$$I(1) + V(1) + \int_0^\infty S(x, 1) dx + \int_0^\infty R(x, 1) dx = 1.$$

Finally, substituting above expressions into the normalization condition, we get:

$$I'(0) = \frac{1}{W}, \text{ where}$$
$$W = L(1) + M(1) + \{\lambda^+ L(1) + \delta[D(1)L(1) + H(1)]\}\overline{B}(\lambda^-)$$
$$+\lambda^- r_1 \overline{B}(\lambda).$$

Thus we summarize above main results in the following Theorem 3.1.

Theorem 3.1 If the system is stable, then the joint distribution of the number in the orbit and the server's state has the following PGFs

$$I(z) = \frac{L(z)}{W}, V(z) = \frac{M(z)}{W},$$

$$S(z) = \frac{\{\lambda^{+}L(z) + \delta[D(z)L(z) + H(z)]\}\overline{B}(\lambda - \lambda^{+}z)}{W},$$

$$R(z) = \frac{\lambda^{-}\delta\overline{B}(\lambda)\overline{R}(\lambda^{+} - \lambda^{+}z)}{W},$$

where

$$L(z) = \exp\{\int_{0}^{z} D(t)dt\}\int_{0}^{z} H(u)\exp\{-\int_{0}^{u} D(t)dt\}du,$$

$$M(z) = \frac{\delta[B^{*}(\lambda^{+}) + \lambda^{-}\overline{B}(\lambda)R^{*}(\lambda^{+})](1-z^{N})}{\lambda^{+}(1-z)},$$

$$D(z) = -\frac{\lambda}{\delta[z-B^{*}(\lambda-\lambda^{+}z)]},$$

$$H(z) = -\frac{(1-z^{N})}{z-B^{*}(\lambda-\lambda^{+}z)}\{B^{*}(\lambda) + \lambda^{-}\overline{B}(\lambda)R^{*}(\lambda^{+})\}$$

$$+\frac{\lambda^{-}\overline{B}(\lambda)R^{*}(\lambda^{+}-\lambda^{+}z)}{W[z-B^{*}(\lambda-\lambda^{+}z)]},$$

$$W = L(1) + M(1) + \{\lambda^{+}L(1) + \delta[D(1)L(1) + H(1)]\}\overline{B}(\lambda^{-})$$

 $+\lambda^{-}r_{1}\overline{B}(\lambda)$

Next we are interested in studying the marginal orbit size distributions when the system in steady-state.

Theorem 3.2 If the system is stable, the marginal PGFs of the server's state orbit size distribution are given by

$$S(z) = \int_0^{+\infty} S(x, z) dx = \frac{\{\lambda^+ L(z) + d[D(z)L(z)]\}\overline{B}(\lambda - \lambda^+ z)}{W},$$
$$R(z) = \int_0^{+\infty} R(x, z) dx = \frac{\lambda^- \delta \overline{\tilde{B}}(\lambda) \overline{\tilde{R}}(\lambda^+ - \lambda^+ z)}{W},$$

and the expressions of I(z) and V(z) are given in Theorem 3.1.

Note that I(z) is the probability generating function of orbit size when the server is idle, V(z) is the probability generating function of the orbit size when the server is on vacation, S(z) is the probability generating function of the orbit size when the server is on service, R(z) is the probability generating function of the orbit size when the server is on repair.

The system in steady state probabilities and some performance measures are given in the following corollary.

Corollary 3.1 If the system is stable, then: (1) The probability that the server is idle is:

$$P_{I} = \lim_{z \to 1} I(z) = \frac{1}{W} \exp\{\int_{0}^{1} D(t)dt\}\int_{0}^{1} H(u) \exp\{-\int_{0}^{u} D(t)dt\}du.$$

Chen Peishu, Zhao Guoxi, Zhou Yongwu

(2) The probability that the server is in dormant period is:

$$P_{V} = \lim_{z \to 1} V(z) = \frac{N\delta[B^{*}(\lambda^{+}) + \lambda^{-}B(\lambda)R^{*}(\lambda^{+})]}{\lambda^{+}W}.$$

(3) The probability that the server is in service is:

$$P_{s} = \lim_{z \to 1} S(z) = \frac{\{\lambda^{+}L(1) + \delta[D(1)L(1) + H(1)]\}B(\lambda^{-})}{W}.$$

(4) The probability that the server is under repair is:

$$P_{R} = \lim_{z \to 1} R(z) = \frac{\lambda^{-} \delta B(\lambda) r_{1}}{W}.$$

(5) The steady state failure frequency of the server is given by:

$$W_{f} = \lambda^{-} [I(1) + \int_{0}^{+\infty} S(x, 1) dx]$$

= $\frac{\lambda^{-} [L(1) + \{\lambda^{+} L(1) + \delta[D(1)L(1) + H(1)]\}\overline{B}(\lambda^{-})]}{W}.$

(6) The probability generating function of the orbit size distribution at the stationary state is given by:

$$P(z) = V(z) + I(z) + S(z) + R(z)$$

= $\frac{1}{W} \{L(z) + \{\lambda^+ L(z) + \delta[D(z)L(z) + H(z)]\}\overline{B}(\lambda - \lambda^+ z)$
+ $\frac{\delta[B^*(\lambda^+) + \lambda^- \overline{B}(\lambda)R^*(\lambda^+)](1 - z^N)}{\lambda^+(1 - z)}$
+ $\lambda^- \delta \overline{B}(\lambda) \overline{R}(\lambda^+ - \lambda^+ z)\}.$

(7) The probability generating function of the system size distribution at the stationary state is given by:

$$Q(z) = V(z) + I(z) + zS(z) + R(z)$$

= $\frac{1}{W} \{L(z) + z\{\lambda^+ L(z) + \delta[D(z)L(z) + H(z)]\}\overline{B}(\lambda - \lambda^+ z)$
+ $\frac{\delta[B^*(\lambda^+) + \lambda^- \overline{B}(\lambda)R^*(\lambda^+)](1 - z^N)}{\lambda^+(1 - z)}$

- $+\lambda^{-}\delta B(\lambda)R(\lambda^{+}-\lambda^{+}z)\}.$
- (8) The probability generating function of the orbit size distribution at the stationary point of time is given by:

$$J = V'(1) + I'(1) + S'(1) + R'(1).$$

(9) The expected number of customers in the system is:

$$K = J + S(1).$$

Theorem 3.3 If the system is stable, the PGF of the steady state distribution of the number of customers in the system at a departure epoch of this model is given by:

$$\Pi(z) = \frac{\{\lambda^{+}L(z) + \delta[D(z)L(z) + H(z)]\}B(\lambda - \lambda^{+}z)}{\{\lambda^{+}L(1) + \delta[D(1)L(1) + H(1)]\}\overline{B}(\lambda^{-})}.$$

Proof. Following the argument of PASTA, we note that a departing customer in the system just after a departure if and only if there were *j* customers in the system before the departure. We denote $\{\pi_j, j \in z^+\}$ as the probability that there are *j* customers in the system at a departure epoch. Then for $j \in z^+$ we have:

$$\pi_j = K_0 \int_0^\infty S_j(x) \mu(x) dx \,,$$

where K_0 is the normalizing constant.

Then multiplying both sizes of above equation by z^{j} and taking summation over $j \in z^{+}$, we have:

$$\Pi(z) = K_0 \int_0^\infty S(x, z) \mu(x) dx$$
$$= \frac{K_0 \{\lambda^+ L(z) + \delta[D(z)L(z) + H(z)]\} \overline{B}(\lambda - \lambda^+ z)}{W}.$$
 (22)

Utilizing normalizing condition $\Pi(1) = 1$, we get:

$$K_0 = \frac{W}{\{\lambda^+ L(z) + \delta[D(z)L(z) + H(z)]\}\overline{B}(\lambda - \lambda^+ z)}$$

and substituting K_0 into (22), we get Theorem 3.3 immediately.

Theorem 3.4 Let B be the length of a generalized busy period (excluding the dormant period). Then, under the steady-state, we have

$$E(B) = \frac{\lambda^+ W - \delta N[B^*(\lambda^+) + \lambda^- B(\lambda) R^*(\lambda^+)]}{\lambda^+ \delta [B^*(\lambda^+) + \lambda^- \overline{B}(\lambda) R^*(\lambda^+)]}.$$

Proof. By applying the argument of an alternating renewal process, we have:

$$P_V = \frac{E(V)}{E(V) + E(B)}, \quad E(V) = \frac{N}{\lambda^+},$$

then we can easily get $E(B) = \frac{N(1-P_V)}{\lambda^+ P_V}$, i.e.,

$$E(B) = \frac{\lambda^+ W - \delta N[B^*(\lambda^+) + \lambda^- \overline{B}(\lambda)R^*(\lambda^+)]}{\lambda^+ \delta [B^*(\lambda^+) + \lambda^- \overline{B}(\lambda)R^*(\lambda^+)]}$$

4 Reliability of the server

Denote the time to the first failure of the server by τ , then the reliability function of the server is $\zeta(t) = P(\tau > t)$. In order to get the reliability of the server, letting the failure states of the server be absorbing states, then we obtain a new retrial queueing system. In the new system, we use the same notations as in section 3, and then we can get the following differential equations:

$$\frac{dV_0(t)}{dt} = -\lambda^+ V_0(t) + \int_0^\infty S_0(x)\mu(x)dx,$$
(23)

COMPUTER MODELLING & NEW TECHNOLOGIES 2014 18(12C) 509-515

$$\frac{dV_n(t)}{dt} = -\lambda^+ V_n(t) + \lambda^+ V_{n-1}(t), \quad 1 \le n < N,$$
(24)

$$\frac{\partial S_n(x,t)}{\partial x} + \frac{\partial S_n(x,t)}{\partial t} = -(\lambda + \mu(x))S_n(x,t) + \lambda^+ (1 - \delta_{n,0})S_{n-1}(x,t), n \ge 0, \qquad (25)$$

$$\frac{dI_n(t)}{dt} = -(\lambda + n\delta)I_n(t) + \int_0^\infty S_n(x,t)\mu(x)dx + \lambda^+ \delta_{n,N} V_{n-1}(t), \ n \ge 1,$$
(26)

and the boundary conditions:

$$S_n(0,t) = \lambda^+ (1 - \delta_{n,0}) I_n(t) + (n+1) \delta I_{n+1}(t), \ n \ge 0,$$
(27)

and the initial conditions:

$$V_n(0) = \delta_{0,n}, S_n(x,0) = 0, I_n(0) = 0,$$
(28)

by taking Laplace transforms of above equations, we obtain:

$$s\tilde{V_0}(s) - 1 = -\lambda^+ \tilde{V_0}(s) + \int_0^\infty \tilde{S_0}(x,s)\mu(x)dx,$$
(29)

$$s\tilde{V_n}(s) = -\lambda^+ \tilde{V_n}(s) + \lambda^+ \tilde{V_{n-1}}(s), \quad 1 \le n < N,$$
(30)

$$s \tilde{S}_{n}(x,t) + \frac{\partial \tilde{S}_{n}(x,s)}{\partial x} = -(\lambda + \mu(x))\tilde{S}_{n}(x) + \lambda^{+}(1 - \delta_{n,0})\tilde{S}_{n-1}(x,s), n \ge 0,$$
(31)

$$s \tilde{I}_{n}(s) = -(\lambda + n\delta) \tilde{I}_{n}(s) + \int_{0}^{\infty} \tilde{S}_{n}(x,s) \mu(x) dx$$
$$+ \lambda^{+} \delta_{n,N} \tilde{V}_{n-1}(s), \ n \ge 1,$$
(32)

 $\tilde{S}_{n}(0,s) = \lambda^{+}(1-\delta_{n,0})\tilde{I}_{n}(s) + (n+1)\delta\tilde{I}_{n+1}(s), \ n \ge 0.$ (33)

We define the following generating functions:

$$\widetilde{I}(z,s) = \sum_{n=1}^{\infty} \widetilde{I}_n(s) z^n, \quad \widetilde{V}(z,s) = \sum_{n=0}^{N-1} \widetilde{V}_n(s) z^n,$$
$$\widetilde{S}(x,z,s) = \sum_{n=0}^{\infty} \widetilde{S}_n(x,s) z^n.$$

Then it follows from (30) that:

$$\tilde{V}_n(s) = \tilde{V}_{n-1}(s) \frac{\lambda^+ z}{s + \lambda^+} = \tilde{V}_0(s) (\frac{\lambda^+ z}{s + \lambda^+})^n, \ 1 \le n < N,$$

hence, we have:

$$\tilde{V}(z,s) = \sum_{n=0}^{N-1} \tilde{V}_0(s) (\frac{\lambda^+ z}{s + \lambda^+})^n$$
$$= \frac{[(s + \lambda^+)^N - (\lambda^+ z)^N] \tilde{V}_0(s)}{(s + \lambda^+)^{N-1} (s + \lambda^+ - \lambda^+ z)}.$$
(34)

Chen Peishu, Zhao Guoxi, Zhou Yongwu

It follows from (31), (33) and (35) respectively that:

$$\widetilde{S}(z,x,s) = \widetilde{S}(z,0,s) \exp\{-(s+\lambda-\lambda^+ z)x\}\overline{B}(x),$$
(35)

$$\tilde{S}(z,0,s) = \lambda^{+} \tilde{I}(z,s) + \delta \frac{\partial \tilde{I}(z,s)}{\partial z},$$
(36)

$$\tilde{S}(z, x, s) = [\lambda^+ \tilde{I}(z, s) + \delta \frac{\partial I(z, s)}{\partial z}]$$

$$\cdot \exp\{-(s + \lambda - \lambda^+ z)x\}\overline{B}(x), \qquad (37)$$

It follows from (29) and (37) that:

$$s\tilde{V_0}(s) - 1 = -\lambda^+ \tilde{V_0}(s) + \int_0^\infty \tilde{S_0}(x,s)\mu(x)dx$$
$$= -\lambda^+ \tilde{V_0}(s) + \int_0^\infty \tilde{S}(0,x,s)\mu(x)dx$$
$$= -\lambda^+ \tilde{V_0}(s) + \delta \tilde{I}'(0,s)B^*(s+\lambda),$$

where
$$\tilde{I}'(0,s) = \frac{\partial I(0,s)}{\partial z}\Big|_{z=0}$$
.

Hence, we have:

$$\tilde{V_0}(s) = \frac{1 + \delta I'(0, s)B^*(s + \lambda)}{s + \lambda^+}.$$

~

From (34), we have:

$$\tilde{V}(z,s) = \frac{1 + \delta \tilde{I}'(0,s)B^*(s+\lambda)}{s+\lambda^+} \cdot \frac{(s+\lambda^+)^N - (\lambda^+ z)^N}{(s+\lambda^+)^{N-1}(s+\lambda^+ - \lambda^+ z)}.$$
(38)

It follows from (29), (30), (32), (37), (38) that:

$$\frac{\partial \tilde{I}(z,s)}{\partial z} = \tilde{I}(z,s)\tilde{D}(z,s) + \tilde{E}(z,s),$$
(39)

where

$$\tilde{D}(z,s) = \frac{s + \lambda - \lambda^+ B^* (s + \lambda - \lambda^+ z)}{\delta [B^* (s + \lambda - \lambda^+ z) - 1]},$$

$$\tilde{E}(z,s) = \frac{(s + \lambda - \lambda^+ z) \tilde{V}(z,s) - 1}{\delta [B^* (s + \lambda - \lambda^+ z) - 1]}.$$

Solving the first-order differential of Eq. (39), we get:

$$\tilde{I}(z,s) = exp\{\int_0^z \tilde{D}(t,s) dt\} \int_0^z \tilde{E}(u,s) dt\}$$
$$\cdot exp\{-\int_0^u D(t,s) dt\} du$$
(40)

Hence, we can obtain the following theorem.

Theorem 4.1 The Laplace transforms of $\zeta(t)$ is given by:

$$\tilde{\zeta}(s) = \frac{[1 + \delta I'(0, s)B^*(s + \lambda)]}{(s + \lambda^+)^N} + exp\{\int_0^1 \tilde{D}(t, s) dt\} \int_0^1 \tilde{E}(u, s) dt\} exp\{-\int_0^u D(t, s) dt\} du + [\lambda^+ \tilde{I}(1, s) + \delta \tilde{I}'(0, s)] \stackrel{\simeq}{B}(s + \lambda^-).$$

Proof. From equations (37), (38) and (40), we obtain:

$$\tilde{S}(1,s) = [\lambda^{+} \tilde{I}(1,s) + \delta I'(1,s)]\tilde{B}(s+\lambda^{-}), \text{ where } \tilde{I}'(1,s) = \frac{\partial I(z,s)}{\partial z}\Big|_{z=z},$$

$$\tilde{V}(1,s) = \frac{[1+\delta \tilde{I}'(0,s)B^{*}(s+\lambda)][(s+\lambda^{+})^{N} - (\lambda^{+})^{N}]}{s(s+\lambda^{+})^{N}}, \tilde{I}(1,s) = exp\{\int_{0}^{1} \tilde{D}(t,s)dt\}\int_{0}^{1} \tilde{E}(u,s)dt\}exp\{-\int_{0}^{u} D(t,s)dt\}du.$$

By direct calculating the expression $\tilde{\zeta}(s) = \tilde{S}(1,s) + \tilde{V}(1,s) + \tilde{I}(1,s)$, we can obtain the above Theorem 4.1. Corollary 4.1 The mean time to the first failure (MTTFF) of the server is given by:

$$MTTFF = \int_{0}^{+\infty} \zeta(t)dt = \zeta(s)\Big|_{s=0} = \frac{N[1+\delta \tilde{I}'(0,0)B^{*}(\lambda)]}{\lambda^{+}} + [\lambda^{+}\tilde{I}(1,0)+\delta I'(1,0)]\overset{=}{B}(\lambda^{-}) + exp\{\int_{0}^{1}\tilde{D}(t,0)dt\}\int_{0}^{1}\tilde{E}(u,0)dt\}exp\{-\int_{0}^{u}D(t,0)dt\}du.$$

5 Conclusion

In the foregoing analysis, an M/G/1 retrial queue with disasters and N-policy vacation is considered, where disasters not only clear all the system customers but also make the server broken. When the server fails, it is repaired immediately. By using the supplementary variables method, we find the generating functions of the number of customers in the orbit and in the system as well as some performance measures of the system under steady-state. In addition, we

References

Authors

- [1] E.Gelenbe (1989) Random neural networks with negative and positive signals and product form solution. Neural Computation, **1**(4), 502-510.
- S. Stidham (1977) Cost models for stochastic clearing systems. [2] *Operations Research*, **25**(1), 100-127. G. Jain & C. Kern (1996) A Plllaczek-Khintchine formula for M/G/1
- [3] queues with disasters. *Computer & Operations Research*, **31**(1), 81-99.
- [4] J. R. Artalejo, A. Gomez-Corral (1999) Computation of the limiting distribution in queueing systems with repeated attempts and disasters *Operations Research*, **33**(3), 371-382.
- Li Q. L. & Lin C. (2006) The M/G/1 processor-sharing queue with [5] disasters. Computers and Mathematics with Applications, 51(6-7), 987-998.
- [6] Jinting Wang, Bin Liu, Jianghua Li (2008) Transient analysis of an M/G/1 retrial queue subject to disasters and server failures. European Journal of Operational Research, 189(3), 1118-1132.

obtain the explicit expre-ssions of the reliability function of the server.

Acknowledgements

This research is partially supported by NSFC (71371075, 71131003), NSFA(KJ2013B1 62, KJ2014A174), FSYT-(2011195) and Chaohu University Scientific Research Fund.

- [7] O. Kella (1989) The threshold policy in the M/G/1 queue with server vacations. Naval Research Logistics, 36(1), 111-12
- [8] Gao S. and Wang J.T. (2014) Performance and reliability analysis of an M/G/1-G retrial queue with orbital search and non-persistent customers. European Journal of Operational Research, 236(2), 561-572
- [9] G. Choudhury, M. Paul. (2004) A batch arrival queue with an additional service channel under N-policy. Applied Mathematics and Computation, 156(1), 115-130.
- [10] Zaiming Liu, Jinbiao Wu, Gang Yang (2009) An M/G/1 retrial Gqueue with preemptive resume and feedback under N-policy subject
- to the server breakdowns and repairs. Computers and Mathematics with Applications, 58(9), 1792-1807.
 [11] Wenqing Wu, Yinghui Tang, Miaomiao Yu (2014) Analysis of an M/G/1 queue with multiple vacations, N-policy, unreliable service station and repair facility failures. International Journal of Supply and Operations Management, 1(1), 1-19.

Additions	
	Peishu Chen, 9. 2. 1979, China Current position, grades: A post-doctoral in South China University of Technology. University studies: Ph.D. degree in systems engineering from Jiangsu University, China in 2010. Scientific interest: Stochastic network, queueing theory, reliability, operations research and optimization
	Guoxi Zhao, 9. 9. 1976, China Current position, grades: Ph.D. graduate student of Yanshan University University studies: Master's degree in systems engineering from Jiangsu University. Scientific interest: Queueing theory and inventory theory.
	Yongwu Zhou, 9. 1964, China Current position, grades: Professor at South China University of Technology, China. University studies: Ph.D. degree in management science and engineering from Hefei University of Technology, China in 2002. Scientific interest: Inventory management and control, operations management, supply chain management, logistics management, operations research and optimization.